= A
N = 0 & AF S 99 N A
20218 = 20l A LEHSH AFS =X D
A AMIEX
Ha: o= U ALY
gel: Lol=x S CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
ALS S X 162,693,653 149,886,509 12,807, 144
= 97,260,312
Jl 1,411,398
& 15,875,220
Al 48,146,723
LOsEX Y A2 87,944,829 80,747,362 7,197,467
= 66,060,376
J| 37,377
& 5,119,882
Al 16,727,194
ol=Ex s 78,547,518 70,339,415 8,208, 103
= 65,988,311
J| 37,377
= 3,182,108
Al 9,339,722
COIsiAN R & K& 47,000 218,000 A 171,000
307 QI2t0| ™ 47,000 67,500 A 20,500
04 CIZ2tSHALALS B X 32,000 42,500 A 10,500
Lol HEa Y HAX HAES 32,000
11T AISIEXAIEEX 15,000 25,000 A 10,000
Colgs 249 15,000
HHOlY &AL 23,000 18,000 5,000
201 et | 3,000 3,000 0
01 AP 22| d| 3,000 3,000 0
S22 EF 2 EY 3,000
307 212t0| & 20,000 15,000 5,000
04 SIZ2ISHAAISH E X 20,000 15,000 5,000
HEHOlY J1E sA} 20,000
LOololLt AL 33,000 33,000 0
201 B9 3,000 3,000 0
01 AP 22| H| 3,000 3,000 0
220 By ¥ 2 8,000
307 QI2t0| ™ 30,000 30,000 0
04 CIZ2tSHAPALS B X 30,000 30,000 0
Lolo & J1E A 30,000
Coldxiel € AMIEESKH 6,382,924 6,000,752 382,172
= 3,191,462
o= 957,438
Al 2,234,024
101 e1214| 589,962 511,361 78,601
= 294,981
o= 88,494
Al 206,487




A AMIEX
Ha: o= U ALY
ool Lo=X ZX (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
03 2INAHAZ2XHE %= 25,662 25,361 301
SOl TI2IAY MEols ol HH Y XHRIH&|
(1,877,000 *13%H )+(1,261,000& x 1% ) 25,662
= 12,831
& 3,849
Al 8,982
04 JIZtHI22XNSE S 564,300 486,000 78,300
COIATICIALY QIAH (LS E A
70,000& x190L »11H 564,300
= 282,150
& 84,645
Al 197,505
201 gEt24Hy| 34,200 32,400 1,800
= 17,100
& 5,130
Al 11,970
01 AP 2t 2] d| 34,200 32,400 1,800
COIURI2IALY RHAH(2AUSHEN )
180,000& 190 34,200
= 17,100
= 5,130
Al 11,970
301 et A =2 13,871 0 13,871
= 6,935
= 2,081
Al 4,855
12 JIEtE &= 13,871 0 13,871
Lol xie MeEols MMM (S3I12)
1,261,000& 11 13,871
= 6,935
= 2,081
Al 4,855
307 gizto| A 5,744 891 5,456,991 287,900
= 2,872,446
& 861,733
Al 2,010,712
11T A EXAIEEX 5,744 891 5,456,991 287,900
Colgxiel & AMSESKH 5,744,891
= 2,872,446
& 861,733
Al 2,010,712
wolaxiel Y At EsK (XA 13,019 9,527 3,492
101 e1214| 13,019 9,527 3,492
03 RIAHEZZXHE = 13,019 9,527 3,492
coldxiel ¢ A3 ESKE 13,019
-Jl=22 613
- YEE I 1,210




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
- 324 411,040 «20 & 823
- SEMDHELEY(6E) 370,000 x12J00 & 4,440
- A2t 22 4E 333,200 x 1200 & 3,999
- A== 88,880& x15& 1,334
- S&HI 50,000 1201 & 600
=2 X2 67,495,493 60,075,997 7,419,496
= 60,745,944
& 1,349,910
Al 5,399,639
301 et A= 67,495,493 60,075,997 7,419,496
= 60,745,944
& 1,349,910
Al 5,399,639
01 Al B & A 462 67,495,493 60,075,997 7,419,496
=2 X2 67,495,493
= 60,745,944
= 1,349,910
Al 5,399,639
LolMs ot X 25,000 25,000 0
307 QI2t0| ™ 25,000 25,000 0
11T A EXAIEEX 25,000 25,000 0
Lol AUST AL (=42 299) 25,000
AALHLQ L2 ZAAA(RR2 Alg 29) 77,252 95,550 N 18,298
= 19,313
Al 57,939
307 2Iz2t0| & 77,252 95,550 N 18,298
o= 19,313
Al 57,939
11 A EXAIEEX 77,252 95,550 N 18,298
SRF2AY 29 7,252
& 19,313
Al 57,939
HAARHLO R ZIAAIL (HASTHI QLA AL E) 160,810 182,000 A21,190
& 40,203
Al 120,607
307 2iz2to| A 160,810 182,000 A21,190
&< 40,203
Al 120,607
11T AISIEXAIEEX 160,810 182,000 A21,190
MASTOFE=Ql AAMBRE 160,810
= 40,203
Al 120,607
A2 Witgtyl & 2¥=2H| XN 847,839 873,423 N 25,584
= 211,955
o=} 211,955




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 423,929
301 LEXZ 120,639 144,423 N23,784
= 30,155
< 30,155
Al 60,329
01 MEI2EZE+05l= 120,639 144,423 N23,784
22Y 232 & 120,639
= 30,155
< 30,155
Al 60,329
307 21201 A 727,200 729,000 A 1,800
= 181,800
< 181,800
Al 363,600
10 ALSISXAIEEE2IHEX 727,200 729,000 A 1,800
228 dietdl X& 727,200
= 181,800
< 181,800
Al 363,600
SHU=SSHME SSAHELEAHA 2N 74,754 31,026 43,728
J| 37,377
Al 37,377
307 gl2tol & 74,754 31,026 43,728
J| 37,377
Al 37,377
11T M ZXAIS EX 74,754 31,026 43,728
SENUSSHML SSA4d EAHA 2L
K& (XS HE) 74,754
J| 37,377
Al 37,377
SAHeMHA 28 N& 11,000 10,000 1,000
307 gl2tol & 11,000 10,000 1,000
11T M SRASE EX 11,000 10,000 1,000
SESHLC JtASE 2EMY 7,000
POAESHEAAMEIA KR A 4,000
SHko ZsdE N 75,000 135,000 260,000
307 21201 A 75,000 135,000 260,000
11T M3 SXAISEEX 75,000 135,000 A 60,000
SHLo SHS MEY X
625,000 & * 1000 &= 1204 & 75,000
ALOEY 29 X& 260,353 285,520 A 25,167
< 78,106
Al 182,247
307 21201 A 260,353 255,520 4,833
< 78,106




A AMIEX
Ha: o= U ALY
ool Lo=X ZX (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 182,247
10 MM SAANEEHESIGHEX 260,353 255,520 4,833
AMLHEE &9t 252,643
= 75,793
Al 176,850
AMLIHE2E SAA A0S 7,710
= 2,313
Al 5,397
S-4G 12,000 18,000 A 6,000
301 et A= 12,000 18,000 A 6,000
01 Al E & A 462 12,000 18,000 A 6,000
2+ E 50,000 x20% x 1201 & 12,000
tHet=0l3lXla 2L (EHEX) 94,000 26,250 67,750
< 32,600
Al 61,400
307 QI2t0| ™ 72,000 26,250 45,750
= 21,600
Al 50,400
11T A EXAIEEX 72,000 26,250 45,750
Lolg Lols 43 XN
12,750,000 =10 2 12,750
= 3,825
Al 8,925
Lolgl AtY X 10,200,000 *1JH & 10,200
= 3,060
Al 7,140
=015 SEIS 23 ALK
850,000 *16JH 2~ 13,600
== 4,080
Al 9,520
olEti2 25 HZ&EXH 50,000 *709H 35,450
& 10,635
Al 24,815
402 DI2HX 20| & 22,000 0 22,000
& 11,000
Al 11,000
02 BIZtXIEANYEX(0OIETHH) 22,000 0 22,000
SBHEAXNE A2 2 XA 22,000
== 11,000
Al 11,000
Lolold e s 5,694 7,980 A2,286
o= 1,708
Al 3,986
307 212t0| & 5,694 7,980 N2,286
o=} 1,708
Al 3,986




SN ALSI S X
Ha: o= U ALY
ool Lo=X ZX (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 5,694 7,980 N2,286
Colod o WY I 5,694
= 1,708
Al 3,986
LodESsSMAHIAMY K& 2,627,080 2,121,290 505,790
= 1,838,950
< 394,065
Al 394,065
307 21201 A 2,627,080 2,121,290 505,790
= 1,838,950
< 394,065
Al 394,065
11T MISRASEX 2,627,080 2,121,290 505,790
Lot EEEMEIAAR K& (XSEHEH) 2,627,080
= 1,838,950
S 394,065
Al 394,065
Lo EESSAMUIA SAX HRIHLH XA 211,500 105,300 106,200
< 63,450
Al 148,050
307 gl2tol & 211,500 105,300 106,200
= 63,450
Al 148,050
11T ALS S XAEE = 211,500 105,300 106,200
Lo EESEAMEA MM NJA(KNSHH) 211,500
< 63,450
Al 148,050
SEHUSSHMHL SS¢4d LHMEA SANHSR 1,800 1,800 0
bl K&
< 360
Al 1,440
307 21201 A 1,800 1,800 0
< 360
Al 1,440
11 ALS S XAEE = 1,800 1,800 0
EHLUESSZML S=Setd dEHMHA
SANX MM H K& 1,800
< 360
Al 1,440
Lol NEFAS 66,000 66,000 0
< 33,000
Al 33,000
402 RI2EXt20l 66,000 66,000 0
< 33,000
Al 33,000
02 It 2 AL EZ (01X THS) 66,000 66,000 0




A AMIEX
Ha: o= U ALY
ool Lo=X ZX (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=409 Lol ng&y2 66,000
=} 33,000
Al 33,000
QUES A AN, AW 3,000 0 3,000
307 212t01 & 3,000 0 3,000
04 CIZ2tSHALALS B X 3,000 0 3,000
QUL S A AN, FSFASFFGUN= 3,000
COEXAE 2SN 8,451,111 9,391,747 A 940,636
= 72,065
o 1,937,774
Al 6,441,272
LOIMEIAIE SAIA MRS X 249,600 334,650 A 85,050
=} 49,920
Al 199,680
307 QI2t0| & 249,600 334,650 A 85,050
& 49,920
Al 199,680
10 AISI EXAIEEHE2IHIEX 249,600 334,650 A 85,050
LOoIEXAAE SAA AR2MEH K& 249,600
& 49,920
Al 199,680
LOIMEIAE HIRQUEE KN (AE2H) 1,973,040 2,333,296 A 360,256
== 986,520
Al 986,520
301 et A= 1,973,040 2,333,296 A 360,256
= 986,520
Al 986,520
01 AR E & A 462 1,973,040 2,333,296 A 360,256
LOIMEALE AIRAEBEIA 1,973,040
= 986,520
Al 986,520
MILEQI &I QUL XA (M=) 2,164,421 2,431,861 A 267,440
& 649,326
Al 1,515,095
301 et A =2 2,164,421 2,431,861 A 267,440
& 649,326
Al 1,515,095
01 Al B & A 46 2 2,164,421 2,431,861 A 267,440
IOt &) QUES XM= H) 2,164,421
== 649,326
Al 1,515,095
Losg=sias 29 938,900 625,220 313,680
307 212t0| ™ 620,000 576,800 43,200
05 QIZ2tE 2 620,000 576,800 43,200
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= - — SHE]|
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Lo=ENE eSS 620,000
401 Al B2 28I 310,000 24,000 286,000
01 A& HI 310,000 24,000 286,000
LosSE=sEAS JsEd 310,000
405 XHoHF S HI 8,900 24,420 215,520
01 XL =2 ZFH S| 8,900 24,420 215,520
NABEFHTU) WA 8,900
22Y 29l 1,095,600 1,061,600 34,000
307 glz2tol & 1,095,600 1,061,600 34,000
06 283 88,000 80,000 8,000
J2g HYZH(SH) Ity N
214,110 »4 1100 & 88,000
10 M3 ZXNANEHI2IHE=X 1,007,600 981,600 26,000
SEZZ2Y 29l 2,400,000 4112 986,400
gandE2E 23l 2,100,000 =74 2 14,700
Z2Y RHAESALAHE AEZS
382,350 *170H & 6,500
d29 NJA(F2Y Z2)dAAMR2E) 90,733 92,194 A1,461
< 27,220
Al 63,513
307 21201 A 90,733 92,194 A1,461
= 27,220
Al 63,513
11 ALS S XAEE = 90,733 92,194 21,461
ZE2Y T2t 2F | 90,733
< 27,220
Al 63,513
d2g NJ(LouN=Z208 W 23) 4,000 11,800 AT7,800
< 1,200
Al 2,800
307 glz2+ol & 4,000 11,800 AT,800
< 1,200
Al 2,800
11 AISISAAISEE X 4,000 11,800 AT,800
Lot EZOY WS ZH| 4,000
= 1,200
Al 2,800
d2Y A (EAl &g B3) 9,720 24,180 214,460
= 2,916
Al 6,804
307 21201 A 9,720 24,180 A 14,460
< 2,916
Al 6,804
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SN ALSI S X
BE: Lo=X U AESY
Chel: Lo ETAE 2GRH (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z2E S 220Y 29 50,000
402 RIZ2EXt20l ™ 110,000 120,000 A 10,000
01 RIZt Xt 2 AL E = (REA &) 110,000 120,000 210,000
2 dE8H =ZXE 100,000
22 22 RAE=S 10,000
SN0 XA (SHE0 =sdEd 289 Nd) 50,000 131,000 A 81,000
< 25,000
Al 25,000
307 glz2+ol & 50,000 131,000 A 81,000
< 25,000
Al 25,000
11T MIZSXASEEX 50,000 131,000 A 81,000
SHke ZsdEH 29 N
5,000,000 *100H 2 50,000
< 25,000
Al 25,000
et Xs 249 123,120 92,150 30,970
307 glz2tol & 123,120 92,150 30,970
02 It MAHEE 6,000 11,000 25,000
SUSAH TS 6,000
03 AHMEE2IHIES 109,120 73,150 35,970
et sl EdAIX S 29 109, 120
- et EHAIXS 2] 25,000
- et EFAIXE QA 84,120
04 DIZHHALALSE E X 8,000 8,000 0
X2 &I s2al 8,000
d2g NI (F2Y A55 2 JsEY) 20,000 137,370 A 117,370
< 6,000
Al 14,000
402 RIZ2EX20l A 20,000 137,370 A 117,370
< 6,000
Al 14,000
02 LA TEALEZ(0IETHR) 20,000 137,370 A 117,370
SHES B2Y HIIHEAE EXSM 20,000
- Eeel 22Y HE+ 10,000
< 3,000
Al 7,000
- &gl Z22Y HE=+ 10,000
< 3,000
Al 7,000
Moteol XIaAMulA2g X3 139,000 133,000 6,000
= 41,700
Al 97,300
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41,700
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6,000

ARSI S XA E X

[=]
HIOL= QIR A MHI A 2
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139,000
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41,700
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133,000
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INE SE2dX K&

= M

24,426

12,213
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N26,770
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= H
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= M W
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210,131
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33,000
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SH: AS =X D
Ba: Loi=x 2 ARy

S FArzel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 1,200 1,200 0
01 = LH 4 Hl 1,200 1,200 0
FAMgR = 1,200
301 LEPEXF 180,000 250,000 A70,000
12 JIEE4 3 180,000 250,000 A70,000
St& &= 300,000& x600H 180,000
HO BS 15,000 15,000 0
HOEAMTI HE XA 15,000 15,000 0
201 Let24d] 6,000 6,000 0
01 AP 2teltl 6,000 6,000 0
SO AR 210E 6,000
301 LEM = 9,000 9,000 0
01 MI2ZE 6= 9,000 9,000 0
SO AFZX FAUI 9,000
N M 750,000 700,000 50,000
SMEAS XA 750,000 700,000 50,000
301 LEEAZ 750,000 700,000 50,000
01 MEI2EZE+05l= 750,000 700,000 50,000
SNEAS 750,000
d4ad 25 9 4 4,514,250 1,438,878 3,075,372
= 29,908
J| 215,129
< 1,029,702
Al 3,239,511
dadE B @ g = X2 677,986 738,868 A 60,882
= 29,908
J| 215,129
< 36,664
Al 396,285
FAa4@ gda=s ot3tdlol 29 115,486 173,452 A 57,966
J| 57,743
Al 57,743
101 1244 dl 13,922 59,532 A 45,610
J| 6,961
Al 6,961
03 RIAHAZ 2B+ 13,922 59,532 A 45,610
FAad gdas ozt 24 13,922
J| 6,961
Al 6,961
201 Let24d] 60,672 77,140 A 16,468
J| 30,336
Al 30,336




AN ALEI =X

Hm: HAW 25 Y 84
ool Hal B3 W Y 2 A (el @2)
x 5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 59,340 75,800 N 16,460
OF2t4I0l At 22IHI(XIZHUX, M2HEEs,
2ZLAHH &) 59,340
J| 29,670
Al 29,670
02 2=2=24%H| 1,332 1,340 A8
o2tdin] 222494| 1,332
J| 666
Al 666
202 044l 2,000 2,500 A 500
J| 1,000
Al 1,000
01 2L Y| 2,000 2,500 A 500
OF2tAI0] =W b 2,000
J| 1,000
Al 1,000
206 T 2 2,400 2,400 0
J| 1,200
Al 1,200
01 X2 H| 2,400 2,400 0
OF2tOI 0l XH 28I 2,400
J| 1,200
Al 1,200
301 dEtE M= 33,492 31,880 1,612
J| 16,746
Al 16,746
09 #HAIAHI XIS 2 33,492 31,880 1,612
HAWE grts OO0l (Z22HAMH]) 33,492
J| 16,746
Al 16,746
405 XHAHF S HI 3,000 0 3,000
J| 1,500
Al 1,500
01 XA 2 ZF S| 3,000 0 3,000
HAEG NS OIIIMI 0] 2SS Ay 3,000
J| 1,500
Al 1,500
HAHE g 0s OItdol 29 (XHAl) 37,179 51,635 N 14,456
101 2124 d] 37,179 51,635 N 14,456
03 RIAHA*ZZ2XHE S 37,179 51,635 N 14,456
HAHE B 0ot 0l 249 37,179
-JlE2 9,153
- 824 5,583
- E S| 5,380
- SEMNNHSY 5,040
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